Ext.2 — Topic 13 — Integration III

28. Find |x? cosx.dx

30. Find J

29. Find |xsecxtan x.dx

1
cos® x

dx




31. Find Iln(xz “1).dx

32, Find J‘hl—”xdx
X




33. Find

3

x.sinxcos x.dx

3. If I, = J-sin" xdx for n> 0, show that:

I,= ~Leosx.sin™ ! x+ n-1
n

g, 5 where n>2

Hence show that: 7, = f sin” x.dc =211,
n

and that: IsxIg =7




|
35. IfI,= J.SQC’1 x.dx for n>0, show that: 36. If I, = ,[) x(l—x3)”,dx for n>0, show that:

1 n—-2 n-—2
I = tan x.sec” “ x+ I - forn=2
"on-l n—17m2 Inzzi”?) g, for nz1 hence show:
n

I = 3" n!
" Bn+2)(3n-1)...8.5.2




VA
37. If I, = Fwdx show that:
A siné

I,~-1,:=0 fornz=1

— hence find the value of 7, for n>1:

38. Show that J:f (x).dx= rf (a—x).dx & hence

T
J;Z cos’x e 'E sin® x e
cos® x +sin’ x sin® x + cos® x

& hence evaluate the integral.




39. Show that f f)ds= [ {70+ f (-}

7T

JT
4 4
Hence show; 1. ax= r 2 dx

& hence evaluate the integral.

40. Show that J:f (x).dx= J:f (a—x).dx

V4

& hence show that: J? — COSX =
7 cosx +sinx
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33. Find ._o[ x. mExoo?&n

| I = m&\‘%su%. sloe
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34 If I, = ,_.mﬁz x.dx for nz 0, show that:

I, = ~Leosxsin®
n

Ax+2=1 1 where n>
7 by

Hence show that: I, = .mmﬁ Prde=2lr o
R * n
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